AER BTN
L esgEs A={x|x<l}, B={x|(x—2)(x+1)<0}, 4 ANB=
A{Xx|-1<x<2} B){x|-1<x<l}
O){x|1<x<2} DO){x|-1<x<1}

2. [2018 4[4 [ %] a%u&gé.\A={x\x2—x—2>0}, mGA=

A, {x|-1<x<2f B. {X-1<x<2}
c. XIx<UixIx>2] o {xIx<—1U{x|x>2}
3.aéﬁné%é.\A={X|(X+1)(X_4)SO}, B={X|Iog2x§2}’ i ANB =

A. [-2,4] B. [L+x)

c. (0.4] D. [-2,+w)

4. TR R AL f(x):x+§—a (@eR), g(x)=-x"+4x+3, fEF—FliEMmLFERR,
B T (X) 5 g(x) MERLE y B A w22 s, T sesiia i B G 2

A.{ala<-3] B. {ala>-3] c. {aja=-3| D. {a|-3<a<4}

5 AT X & (0, 490) | %ﬁx+§za,wamm@ma%

(A) (_OO! 2) (B) (_OO! 2] (C) (21 +OO) (D) [2! +OO)

6. [2019 FEEWiirds] #a>0b>0, M«a+b<4”’ “ab<4”

A. FERALERAT B. WEATEHFAM
C. b EkAt D. BEATE AR ERM

7HXeR, M “x*—Bx<0” & “[X-1]<1” 1y ( )

A. FEIFTIANIL B2 A B. WEIA TS %M
C. FREFKM D. BEA TR A LB AT



8.#4a>0,b>0, N “a+b<4” & “ab<4” ) C )

A, A LE AT B. WEATEI A
C. Fem Wb B kAT D. BEATE AL

4
9.8/ x>1, )H\Ui—'IX‘F;EX?%E%/J‘fEHﬂLy x I{E R
A. 1 B. 2C. 3D. 4

104 F4 M N2 2m+n =1, mu%+%a@%/J\@aa
A. 3+242 B. 3+42
C. 2422 D. 3

11.8%0log,(a— 2) +log,(b— 1) =1, N2a + bELH|H/MER, ab=

A. 3 B. 4
C. 6 D. 9
(x+D)(2y+1)

12.% x>0,y >0,x+2y =5, mu? (B /M N
Xy

13.C01 ¥ U5 A WA S e, #m, neN', #2a,a,’ = a2 U= +2K
BAMEA_

14. B0k % f (X) = ax® —2ax—3.

(1) #a=1, KAR% F(x) >0 HIffsE:

(I &xa>0, H f(x)=07E[3,+0) FiEmMAL, Ka IUEEH;

(D #5T x 772 £ (X) =0 A WA A IE SRR X, X, 3R X7 + X, I EUE T .



